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1. What is 5kg in grams (g)?
1kg = 1000 grams
5 x 1000 = 5000g

2. What is 2kg in grams (g)?
1kg = 1000 grams
2 x 1000 = 2000g

3. What is 3.5kg in grams (g)?
1kg = 1000 grams
3.5 x 1000 = 3500g

4. What is 8000g in kilograms (kg)?
1000g = 1kg
8000 ÷ 1000 = 8kg

5. What is 2000g in kilograms (kg)?
1000g = 1kg
2000 ÷ 1000 = 2kg



6. What is 5600g in kilograms (kg)?
1000g = 1kg
5600 ÷ 1000 = 5.6kg

7. Leo is baking a cake. The recipe says he needs to add 200g of sugar. What is that 
in kilograms (kg)?
1000g = 1kg
1000 ÷ 5 = 200
1 ÷ 5 = 0.2
200g = 0.2kg
The answer is 0.2kg.

8. Jane has a rubbish sack that weighs 1.5kg. What is that in grams (g)?
1kg = 1000g
1.5 x 1000 = 1500g
The answer is 1500g.
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